User selects which
. type of outcome the
B| nar Outcome it e
based upon (binary
outcome and

continuous outcome

- should be used for

Sample size calculatoreir: oM Rt Software detects

RCT the other whether
methods should be decimals should

Thiz zpreadzheet iz designed to calculate the number of participants required for a i be entered USing
trial comparing two PROPORTIONS. The user must enter: full stops or

commas

Sample Size Calculator

Please select method  |binary outcome

the proportion in the control group [0.2 or 0.3 etc] AND Regional Settings identified as:

the proportion in the intervention group [0.4 or 0.5 etc] Englihilin ex UK

Decimals should be in the form:
0.1 [using .]

User selects

The number of participants required in each group iz calculated with m pOWer power (800/0,
—— 90% or 95%)
and [ | szignificance level T
and significance

(5% or 1%)

BINARY OUTCOME

User selects
CONtrOl gGroUD |
proportion and . Calculate Once

expected Control group proportion = |0 =enter value here [eq 0.2) proportions are
intervention

entered, click
group proportion ]

Clear ¥alues

Intervention group proportion = |0 *enter value here [eg 0.3]

i

Mumber per group = 293 [B0% power: 5% sigmficance;two-zided test] _
If new calculation

required, this

After pushing ‘Calculate’,
the number of
participants per group is

button clears
existing values

To exit, click this

shown
Eg 293 in each group

(586 in total)

button




Continuous outcome

Sample size calculator
Please select method |continuous outcome ~

This spreadzheet iz designed to calculate the number of participants required for a two-arm randomized controlled
trial comparing two MEANS. The user must enter:

the mean difference between intervention and control Regional Settings identified as:

the standard deviation of the control group measure Engliftlllsterlib]

Decimals should be in the form:
0.1 [uzing .]

User selects

The number of participantz required in each group iz calculated with (gpz - | power power (800/01)
90% or 95%
and - | zignificance level . e
3% J and 5|gn|f|cance

(5% or 1%)

User selects NTINUOUS OUTCOME
control group

standard

............................................

deviation and
expected Standard deviation = |2.1 “enter value here [eg 2.1) Calculate _ Once standard

Signiﬁcant um difference detectable = l? =anter mean difference deviation and
minimum clinical minimum
difference difference

detectable are

entered, click
this button

Clear ¥alues

Mumber per group = 32 [B0% power: 5% significance two-zided test]

After pushing ‘Calculate’,
the number of
participants per group is

e

shown To exit, click this

Eg 32 in each group (64
in total)

button




Cluster sample (binary)

Sample size calculator
Please select method |cluster sample (binary) |

This spreadsheet iz designed to calculate the number of clusters required for a two-arm CLUSTER randomized
controlled trial comparing two PROPORTIONS. The user must enter:

the proportion in the control group [0.2 or 0.3 etc] Regional Sett

0,
Enciidiili & User selects power (80%,

90% or 95%) and

the average cluster size Decimals sho Signiﬁcance (50/0 or 10/0)
0.1 [uzing .]

the proportion in the intervention group [0.4 or 0.5 etc]

an estimate of the intracluster cormrelation

User selects
control group
proportion and

expected
intervention Average cluster size =
group proportion

The User enters average number of lated with
patients per cluster

LUSTER SAMPLE [BINARY)

80% «| power

and (g% .| szignificance level

Intracluster coefficient [ICC) = |p p5

User enters expected ICC

,. ................................... T Once

-. .......................................... .- prOpOFtiOnS, ICC
and average

sample size if Intervention group proportion = |0 =enter value here [eg 0.3] Clear Yalues cluster size are

clustering was entered, click
ignored (triaI Unadjusted sample size = 536 [B0% power; 5% significance two-sided test] here

would have 586
patients)

Computes Control group proportion = |0 =anter value here [eg 0.2]

ik

Mumber of clusters per group =

After pushing ‘Calculate’, the number of clusters per

group is shown Eg 24 clusters (of 30 people) in each e | ©Xit, click this
group (48 clusters of 30 people in total, or 1440 people) button




Cluster sample (continuous)

Sample size calculator
Please select method ||::Iuster sample (continuous) j

Thiz spreadsheet is designed to calculate the number of clusters required for a two-arm CLUSTER randomized
controlled trial comparing two MEANS. The user must enter:

the mean difference between intervention and control Regional 5 )
English (U3 User selects power (80%,

the standard deviation of the control group measure 90% or 950/0) and

the average cluster size Decimals = significance (50/0 or 10/0)
0.1 [using .

User selects
control group
standard The User enters average number of lated with [gpz | power
deviation and patients per cluster and lﬁ significance level
expected STER SAMPLE (CONTINUOUS)
significant
minimum clinical
difference

an estimate of the intracluster comrelation

User enters expected ICC

Average cluster size = g Intracluster coefficient [ICC) =

Standard deviation = 2.1 *enter value here [eg 2.1] Calculate

.......................................... Once SD,
Computes Minimum difference detectable = 1.5 anter mean difference minimum
sample size if detectable
clustering was difference, ICC
Ig nored (triaI Unadjusted zample size [80% power; 5% significance two-zided test] and average

would have 64 cluster size _are
patients) Number of clusters per group entered, click

Clear ¥alues

i K

here

After clicking ‘Calculate’, the number of clusters per e ot e s

group is shown Eg 3 clusters (of 30 people) in each e button
group (6 clusters of 30 people in total, or 180 people)




